
 
 
 
 
 

 
 

2 6 3 2 4 3 6 

5 6 3 6 1 1 3 

3 0 1 3 0 3 4 

6 1 7 8 4 1 5 

7 5 2 3 2 1 6 

0 2 1 2 1 2 2 

5 3 2 1 1 5 1 

3 2 1 3 4 1 3 

1 4 3 2 6 1 2 

2 5 2 3 4 1 6 

2 3 4 2 1 5 9 
 
ANSWER: FOIL 
 
In this puzzle, find the numbers whose “next-door neighbours turn it up to 
eleven”, i.e. find the numbers whose numbers directly up/down/left/right of it 
sum up to 11. Shade in those numbers to read the answer. 
 
Note: Diagonals are not considered next-door neighbours. 

Neighbours 
Don't you just hate it when your next-door 

neighbours turn it up to eleven?! 
 

Puzzle by Dan (London) 
 

 


